11@133 (Kl 1@133)

\ Linearized knot diagam
{ ( \q/ B i e e i

\ \ 5 1 8 7 2 100 4 3 11 6 9

Solving Sequence

—_—> 4>1 —> —> —> — — — c1,C5,C
Aknotdlagranﬂ 3803 408 902 207 704 50111 0910 o 6 —> C1,C5,C10

Ideals for irreducible component#ﬂ)f Xpar

I = (3.79178 x 10?20 + 3.67398 x 10%%¢*® + - - 4 7.16385 x 10?%b — 6.36327 x 10%!,

—9.16718 x 10%%u** + 1.82694 x 10%3u*3 + -+ + 2.86554 x 10%%a — 2.62927 x 10**, u*® +u** + -

I =(b+1, 2a> —au—4a+u+1, u? +2)

IV ={(a, b+ 1, v* +v+1)

* 3 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

— 28u?


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I} = (3.79 x 10*?u** + 3.67 x 10*?u*® + ... 4 7.16 x 10%?b — 6.36 x
1021, —9.17 x 102%u%* + 1.83 x 1023u*3 4 ... + 2.87 x 10%3a — 2.63 X
1024, u?® 4+ u*t + ... — 28u? —4)

(i) Arc colorings

o ()
)
;)

0.00319911u** — 0.637556u*3 + - - - — 7.59140u + 9.17549
—0.529294u** — 0.512850u3 + - - - + 4.30006u + 0.0888247

—U
u
0.424417u** + 0.198789u*3 + - - . — 8.45475u + 5.64275)

ay = (—1.00162u44 —1.22215u% + -+ + 7.67645u + 1.88551

ag =

—_

ayg =

c

[

ag =

u
ar = \uwd+u

u +1
ut + 2u?
0.432131u** + 0.147580u*3 + - - - — 9.69578u + 6.67824)

—0.958226u'* — 1.29799u?3 + - - - + 6.40444u + 2.58607

0.729800u** + 0.582734u*3 + - -+ — 6.09901uw — 6.26113
—0.0344386u** + 0.939991u*3 + - - - + 4.74682u — 5.61829

0.432131u** + 0.147580u*3 + - - - — 9.69578u + 6.67824
as = \0.415034u** + 0.460313u*? + - - - — 4.67591u — 3.72428

<0.432131u44 +0.147580u*3 + - - - — 9.69578u + 6.67824)
ag =

a5 =
ail =

a1 =

0.415034u** + 0.460313u*3 + - - - — 4.67591u — 3.72428

(ii) Obstruction class = —1

see 5335 35 = = ax
(111) Cusp Shapes — 32120403302253218896830u44 4 01439144502236413306159u43 4

267057572611973423431852 _j1g§(§§gg?ggggg§i§;9g§l§?388 T1638476266902618700479
71638476266902618700479 71638476266902618700479




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs u® + 3+ —10u+3
Ca u® +19u + -+ 58u+9
C3,C4,C7 U45_U44+"'+28U2+4
Cs
Cg, C10 ut® =M+ 3u+3
¢y, C11 u®® 4+ dutt 4+ 21— 9




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs y* —19y* . +58y—9
C2 Y 21y .. — 1838y — 81
s T y*® 4+ 55y* 4 — 224y — 16
Cs
C6,C10 y45+14y44+--~+21y—9
Co, €11 y*® +38yM + ... 410737y — 81




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

u = —0.595154 4 0.7999761
a = —0.809139 — 0.9235081 3.82469 4 9.972131 | —4.07711 — 8.667461
b= —0.66293 + 1.489251

u = —0.595154 — 0.7999761
—0.809139 + 0.9235081 3.82469 — 9.972131 | —4.07711 + 8.667461
b= —0.66293 — 1.489251

u=0.542227 4 0.8471041
a = —0.624429 + 0.8737221 4.60680 — 4.009691 | —2.37481 + 3.812011
b= —0.49486 — 1.418561

u=0.542227 — 0.8471041
a = —0.624429 — 0.8737221 4.60680 4 4.009691 | —2.37481 — 3.812011
—0.49486 + 1.418561

= 0.449130 + 0.9192171
0.997189 — 0.5621341 5.31668 — 4.260991 | —1.24439 + 3.986711
0.360475 + 0.9423831

0.449130 — 0.9192171
= 0.997189 + 0.5621341 5.31668 4 4.260991 | —1.24439 — 3.986711
= 0.360475 — 0.9423831

—0.372392 + 1.006660.1
0.981655 + 0.5266401 5.57757 — 1.593101 | —0.70414 + 1.886581

—0.372392 — 1.0066601
0.981655 — 0.5266401 5.57757 4+ 1.593101 | —0.70414 — 1.886581
0.139519 + 1.0242401

0.203852 + 0.7527391
= 0.411257 + 1.2535901 1.25627 — 2.003041 | —0.90089 + 4.846291
—0.370857 — 0.7674831

0.203852 — 0.7527391
= 0.411257 — 1.2535901 1.25627 + 2.003041 | —0.90089 — 4.846291
= —0.370857 + 0.7674831

b
U
a
b
U
a
b
U
a
b= 0.139519 — 1.0242407
U
a
b
U
a
b
U
a
b




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.756562 + 0.1516571
= 0.353008 — 0.6457511
—0.400769 — 1.2097301

1.87890 — 5.452201

—5.89309 + 4.911131

—0.756562 — 0.1516571
= 0.353008 4 0.6457511
—0.400769 + 1.2097301

1.87890 + 5.452201

—5.89309 — 4.911131

—0.411509 + 0.6292131
= —0.48287 — 1.773691
—0.759126 + 0.9240611

—2.33846 + 4.649781

—9.14624 — 8.100021

—0.411509 — 0.6292131
—0.48287 + 1.773691
—0.759126 — 0.9240611

—2.33846 — 4.649781

—9.14624 + 8.100021

0.739174 + 0.0666591
= 0.432504 + 0.6053441
—0.183861 + 1.0693201

2.24775 — 0.286381

—4.98856 + 0.175111

0.739174 — 0.0666591
0.432504 — 0.6053441
—0.183861 — 1.0693201

2.24775 + 0.286381

—4.98856 — 0.175111

0.038629 + 1.3466201

= 0.753383 — 0.0399291 4.91236 — 2.291811 0
= —0.056494 — 0.1565241
= 0.038629 — 1.3466201
= 0.753383 + 0.0399291 4.91236 + 2.291811 0

—0.056494 + 0.1565241

—0.101635 + 0.5905841
—0.429318 — 0.1406321
—1.47830 — 0.112391

—0.78716 + 2.481221

—3.04347 — 4.765891

= —0.101635 — 0.5905841
= —0.429318 + 0.1406321
= —1.47830 + 0.112391

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—0.78716 — 2.481221

—3.04347 + 4.765891




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.479511 + 0.3033051
= 0.065872 — 0.4279851
= —0.987241 — 0.6402091

—3.30905 — 1.496551

—13.54204 — 0.048001

= —0.479511 — 0.3033051
= 0.065872 + 0.4279851
= —0.987241 + 0.6402091

—3.30905 + 1.496551

—13.54204 + 0.048001

= —0.08818 4 1.437651

= 1.047830 + 0.1066311 2.28059 + 0.334401 0
= —1.143340 — 0.4645361

= —0.08818 — 1.437651

= 1.047830 — 0.1066311 2.28059 — 0.334401 0

= —1.143340 + 0.4645361

= —0.117374 + 0.4882541
1.95300 — 2.180781
= —0.572552 + 0.3443001

—1.01308 — 1.540971

—3.12750 — 1.497291

—0.117374 — 0.4882541
= 1.95300 + 2.180781
= —0.572552 — 0.3443001

—1.01308 + 1.540971

—3.12750 + 1.497291

0.320837 + 0.3807101
= 1.001570 — 0.3862061
= 0.159215 4 0.0778371

—0.430811 — 1.1920207

—5.27697 + 5.643551

= 0.320837 — 0.3807101
= 1.001570 + 0.3862061
= 0.159215 — 0.0778371

—0.430811 + 1.1920201

—5.27697 — 5.643551

= —0.00060 + 1.584021

= 0.58858 —1.611697 6.21731 — 1.331641 0
= —0.042622 + 0.9223471

= —0.00060 — 1.584021

= 0.58858 +1.611697 6.21731 + 1.331641 0

= —0.042622 — 0.9223471




U
a = —0.10012 + 1.913481
b= —0.69213 — 1.788161

Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.10202 + 1.597221
a= 0.16838 — 2.068841 5.28483 4 6.464911 0
b= —0.568246 + 1.2912807
u = —0.10202 — 1.597221
a= 0.16838 + 2.068841 5.28483 — 6.464911 0
b= —0.568246 — 1.2912807
u = 0.393229
a= 0.318039 —0.995192 —10.6150
b= —0.551275
u = —0.02225 4 1.606997
a = 1.205480 + 0.0192981 6.93943 4 2.897361 0
b= —2.04934 — 0.125807
u = —0.02225 — 1.606997
a = 1.205480 — 0.0192981 6.93943 — 2.897361 0
b= —2.04934 + 0.125801
u = 0.04744 4+ 1.634311
a= 0.24569 + 1.764951 9.56075 — 2.898851 0
b= —-0.161409 — 1.3391707
u = 0.04744 — 1.634311
a= 0.24569 — 1.764951 9.56075 + 2.898851 0
b= —0.161409 + 1.3391707
u = —0.17946 + 1.647931
a = —0.15251 — 1.958997 12.1487 + 12.94781 0
b= —0.85684 + 1.766711
u = —0.17946 — 1.647931
a = —0.15251 + 1.958991 12.1487 — 12.94781 0
b= —0.85684 — 1.766711
= 0.15594 4+ 1.661971
13.2084 — 6.70611 0




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.15594 — 1.661971
—0.10012 — 1.913481
= —0.69213 + 1.788161

U
a
b

13.2084 + 6.70611

0.11988 + 1.675201
0.116060 — 1.1885401
0.864414 + 1.0571901

14.2846 — 6.45831

= 0.11988 — 1.675207
0.116060 + 1.1885401
0.864414 — 1.0571901

14.2846 + 6.45831

—0.08709 + 1.686891
= 0.117912 4+ 1.2851701
0.73293 — 1.223701

14.9288 + 0.12761

= —0.08709 — 1.686891
0.117912 — 1.2851701

u
a
b
u
a
b
u
a
b
u
a=
b= 0.73293 + 1.223701

14.9288 — 0.12761




IL IY =(b+1, 2a> —au—4a+u+1, u?+2)

(i) Arc colorings

w= (o)

ag —
ayq =
ayp =

(
(
(

oo
e ()
(

(
(
(
(

ar =

(ii) Obstruction class =1

(iii) Cusp Shapes = —4au + 4u — 8

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
4
C1,Co (u =+ 1)
03,04,07 (u2 +2)2
cs
5 (u—1)*
ce, Co (u? —u+1)>2
€10, €11 (u® +u+1)?

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)4
03,04,67 (y+2)4
cs
C65 €9, C10 (yQ +y+ 1)2
C11

12



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

3.28987 — 2.029881

—6.00000 + 3.464101

3.28987 + 2.029881

—6.00000 — 3.464101

3.28987 + 2.029881

—6.00000 — 3.464101

U= 1.4142101
a= 0.387628 4 0.3535531
b = —1.00000

U= 1.4142101
a= 1.61237+0.353551

b = —1.00000

U= —1.4142101
a= 0.387628 — 0.3535531
b = —1.00000
u= —1.4142101
a= 1.61237 —0.353551

b = —1.00000

3.28987 — 2.029881

—6.00000 + 3.464101

13



IIL. IY = (a, b+ 1, v2X + v+ 1)

(i) Arc colorings

w= (o)

o ()
o [l
e ()
o
o ()
o ()
. ()
o ()
wn=("")
=

(ii) Obstruction class =1

(iii) Cusp Shapes = —4v — 14

14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)?
1 2
Ca,C5 (u+1)
€3,C4,C7 u?
Cs

2 1
C6,C11 u” +u+

2 1
C9, €10 ut —u+

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)2
€3,C4,C7 y?
cs
C65 €9, C10 y2 +y+1
C11

16



(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1(vol + y=1CS)

Cusp shape

v = —0.500000 + 0.8660251

a= 0 —1.64493 4- 2.029887 | —12.00000 — 3.464101
b = —1.00000
v = —0.500000 — 0.8660251

0 —1.64493 — 2.029881 | —12.00000 + 3.464101
b = —1.00000

17



IV. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u— 1) (u+1)*(u*® +3u* + - — 10u + 3)
C2 ((u+1)%)(u® 4+ 19u** + - - - +58u + 9)

€3,C4,C7 w?(u? + 2)2(u®® — a4 4 2802 4 4)
C8

5 (uw—D)"(u+1)*(u*® +3u* + - — 10u + 3)
6 (u? —u+ 1)) (W +u+1)(u?® = 2u™ 4+ + 3u +3)
€ (u* —u+ 1)) (u* + 14u* + -+ 21u — 9)
10 (u? —u+ 1) (u? +u+1)%w?® = 2u™ + - + 3u+ 3)
c11 (u? +u+ 1)) + 140 + - 4 21u — 9)

18



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cs ((y — DO (y* — 19y + - + 58y — 9)
C2 ((y — DO (y* + 21y* + - — 1838y — 81)
037647: yz(y+2)4(y45+55y44—|—--- — 224y — 16)
C6, €10 (1 +y+1)°)(y* + 14y™ + -+ 21y - 9)
co, C11 (2 +y+1)®)(y* +38y* + - - + 10737y — 81)

19



